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A~½Þ¾Úß ÈÚßOÚQ×æÞ,

OÚ×æ¥Ú GÁÚsÚß ËæçOÚÐ{OÚ ÈÚÎÚ%VÚ×ÚÆÇ (2020-21 ÈÚß}Úß ¡ 2021-22)

OæàÞÉsé¬M¥ÛW ËÛÅæVÚ×Ú«Úß­ ÑÚM®Úãy%ÈÛW }æÁæ¾ÚßÅÛVÚÆÄÇ. A¥Ú§ÂM¥Ú ®ÚÃ~ }ÚÁÚVÚ~¾ÚßÆÇ

OÚÆ¾Úß·æÞOÛ¥Ú AËÚ¾ÚßVÚ×Úß ÈÚß}Úß¡ OèËÚÄÀVÚ×Ú«Úß­ ®Úsæ¥ÚßOæà×ÚßÙÈÚÆ Ç OæÄÈÚấ  ÅæàÞ®ÚVÚ×Úß

OÚMsÚß¶M¦Èæ. OÛÄßÈÛÏ%OÚ ®ÚÂÞOæÐ¾Úß D}Ú¡ÁÚ ®Ú~ÃOæVÚ×Ú ÉËæÇÞÎÚzæ ÈÚß}Úß¡ ÌOÚÐOÚÁæàM¦Væ

ÑÚMÈÛ¥Ú¥Ú A¨ÛÁÚ¥Ú ÈæßÞÅæ B¥Úß OÚMsÚß¶M¦¥æ. ®ÚÂzÛÈÚßOÛÂ¾ÚáÛW ÈÚßßM¥ÚßÈÚÂ¥Ú

ÌOÚÐyÈÚ«Úß­ ÑÚPÃ¾ÚßVæàØÑÚÄß C OÚÆOæ¾Úß @M}ÚÁÚÈÚ«Úß­ ®ÚÂÔÚÂÑÚßÈÚấ ¥Úß @}ÚÀVÚ}ÚÀ. ®ÚÃ~

}ÚÁÚVÚ~¾Úß ®ÛpÚVÚ×Ú«Úß­ OÚÆ¾ÚßßÈÚ ®ÚãÈÚ%eÛk«ÚÈÚ«Úß­ R_}Ú®ÚtÒOæà×ÚßÙÈÚấ ¥Úß D}Ú¡ÈÚß.

B¥Úß ®ÚÃ~ }ÚÁÚVÚ~Væ @VÚ}ÚÀÈÛ¥Ú ®ÚãÈÚ%eÛk«ÚÈÚ«Úß­ R_}Ú®ÚtÒOæà×ÚÙÄß ̂ ÚlßÈÚnOæVÚ×Ú«Úß­

J×ÚVæàMtÁÚßÈÚ PÁÚß ®Úấ ÑÚ¡OÚ AW¥æ. A ®Úấ ÑÚ¡OÚ¥ÚÆÇ«Ú Ú̂lßÈÚnOæVÚ×Ú«Úß­ ¬ÈÚß½ ÑÚÊM}Ú @¢ÚÈÛ

ÌOÚÐOÚÁÚ ÑÚÔÛ¾Úß¦M¥Ú ®Úãy%VæàØÑÚ·æÞOÚß. OÚÆOæ¾Úß @M}ÚÁÚÈÚ«Úß­ ®ÚÂÔÚÂÑÚÄß ÈÚß}Úß¡

¬ÈÚß½ @¨Ú́ À¾Úß«ÚÈÚ«Úß­ Ôæ̂ Úß` A}Ú½ÉËÛÊÑÚ¦M¥Ú ÈÚßßM¥ÚßÈÚÂÑÚÄß «Û«Úß ¶¾ÚßÑÚß}æ¡Þ«æ.

¬¥æ%ÞËÚOÚÁÚß
GÑé.Ò.B.AÁé.n.
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63 + 64 + 69 + 73 + 75 + 70 = 60 + 60 + 60 + 70 + 70 + 70 + 3 + 4 + 9 + 3 + 5

= 390 + 24

= 414

112, 117, 109, 120, 112, 115, 105

2. 1008, 1012, 1024, 1007, 1030

(3  60) + (3  70) + 24

=  180 + 210 + 24

= 414

(6  60) + (3  10) + 24

=  360 + 30 + 24

= 414
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16  72 

16  72 = (10  72) + (6  72)

=       720    +     432     (6  70 = 420, 6  2 = 12)

= 1152

64  22 = (20  64) + (2  64)

=     1280    +    128

= 1408

14  25 18  35 28  15

70 2

10 700 20

6 420 12

700 +

420 +

20 +

12

1152

 

 

60 4

20 1200 80

2 120 8

1200 +

80 +

120 +

8

1408
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312  12

312  12

312  120 = 192. 

192  120 = 72. 72  72 = 0

10 + 10 + 6 = 26

  26

12 312

24

72

72
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3 2
8 5
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=
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3 2
11 5

; ________ ________

________ ________

5 3
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; ________ ________

________ ________

2 3
5 10
; ________ ________

________ ________
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34 =

256 =

26 =

1238 =

12 =

8 =

2 =

5 =

1235 =

1585 =

124 212 1 

3125 4175 4 

1275 1 






 



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1286 = (1  1000) + (2  100) + (8  10) + (6  1)

3457 =

5240 =

6034 =

15005 =

10018 =

326
1000

=
3 2 6

10 100 1000
 

82
100

=
8 2

10 100


365
1000

=

420
1000

=

308
1000

=

40
100

=
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428, 339, 376, 4020, 528, 336, 5050, 425, 3000, 892, 5160

428, 376, 4020, 0, 2, 4, 6, 8

528, 336, 5050, 892

3000, 5160

339, 4020, 528,

336, 3000, 5160

3 + 3 + 9 = 15

5 + 2 + 8 = 15

428, 376, 4020, 528,

336, 3000, 892, 5160

28, 76, 20, .............

4020, 5050, 425, 0, 5

3000, 5160
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4 = 2  2 20 = 2  2  5

6 = 2  3 50 = 2  5  5

8 = 2  2  2

9 = 3  3

40 (40  2 = 20,   20  2 = 10, 10  2 = 5)

40 = 2  2  2  5

40 = 5  2  2  2

40 = 2  2  2  5

1. 70 =

2. 99 =

3. 100 =

4. 200 =

5. 150 =

40

5   8

4   2

2 22 40
2 20
2 10

5



19

1
10

= 0.1
4

100
 = 0.04

3
1000

 = 0.003
3

2 2.3
10



3
10

=  
14

100
 =   

252
1000

 =   

7
10

=  
7

100
 =   

7
1000

 =   

25
10

=  
25

100
 =   

25
1000

 =   

2
10

3 =  
3

100
4  =   

2
1000

5  =   

2
0.2

10


41
0.41

100


416
0.416

1000


0.4 =  0.37 =   0.325 =   

0.9 =  0.09 =   0.009 =   

2.3 =  0.23 =   0.023 =   

2  10 =  3  100  =   

26  1000 =  35  100  =   

40  100 =  32  1000  =   
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 2.25 + 0.5  = 2.75

0.5 + 0.25 + 0.75 =

0.25 + 1.43 + 0.006 =

1.45 + 0.732 + 0.4 =

4.2 + 4.02 + 4.002 =

1.5  0.25 =________ 2.5  0.75  = ________

3.47  1.24  = ________ 5.82  0.06  = ________

12.43  1.3  = ________ 8.67  1.006  = ________

3.4  0.005  = ________ 0.04  0.004  = ________

8.42 = 8 42 

3.5 = 3 5 

12.75 =    

4.5 =   

7.5 =    

14.5 =    

3.750 =    

7.5 =    
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A = B = C = 

D = E = F = 

135°

A B

C

E D

F

75°
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P Q S

R

A B

C

D

E
O

40°
30°

30°
20°



23

300  100 = 3 1500  100 = 15

2400  100 =  4800  100 =  

10000  100 =  24000  100 =  

340  100 = 3 40

420  100 =  

3250  100 =

4225  100 =

215
100

= 2.15
85

100
= 

324
100

= 
1222
100

= 

4270
100

= 
1250
100

= 

42  18 =  6  0.08 =  

4.2  18 =  60  0.08 =  

0.42  18 =  600  0.08 =  

420  18 =  6000  0.08 =  
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24
100

12 =   
288
100

 = 2.88    
24 12

100
 

  

0.24  12  
24

100
0.24  

 

8
100

352  =
2816
100

  = 28.16

352  0.08 = 28.16, 
8

100
0.08  

 

12
100

200  =
2400

24100 

5
100

3200  =  =

4
100

1250  =  =

10
100

1560  =  =

2
100

1422  =  =

40
1

10
 4

40
1
4

10

30
1
5

6, 30 
1
6

5

7 35    

3
1

12
1

4 2

1 3
1

2 2
  
 

1
4 2

2
3

3

8
1

14
10    
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4

8

10

10

33

3

4

8
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,  39,  ,  60,  ,  129,  

22
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1 121 107

2 98 233

3 125 216

4 103 108

5 120 140

6 109 218

7 99 203


